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³'RD�DGDODK�NHNXDWDQ�WHUEHVDU�GDODP�VHJDOD�KDO��'HQJDQ�GRD�GDUL�NHGXD�RUDQJ�WXD�
PDXSXQ�RUDQJ�RUDQJ�WHUFLQWD�DNDQ�PHQMDGL�VHEXDK�NHNXDWDQ�\DQJ�EHVDU�GDODP�

PHQJKDGDSL�VHJDOD�KDO�´

³+DUDSDQ�DGDODK�VXEXDK�PLPSL�\DQJ�Q\DWD´�%HUPLPSLODK�VHWLQJJL�± WLQJJL�ODQJLW��
ELDO�WHUMDWXK�PDND�ELQWDQJ�ODK�\DQJ�DNDQ�PHQDQJNDSQ\D�

3(56(0%$+$1

3XML�6\XNXU�DWDV�VHJDOD�QLNPDW�GDQ�NDUXQLD�\DQJ�GLEHULNDQ�ROHK�$OODK�6:7�DWDV�
VHJDOD�NDUXQLD�GDQ�ULGKRQ\D�\DQJ�WHODK�GLEHULNDQ�NHSDGD�VD\D�VHKLQJJD�VD\D�ELVD�

PHQ\HOHVDLNDQ�NDU\D�SHQHOLWLDQ�SHUWDPD�VD\D� .DU\D SHQHOLWLDQ LQL�VD\D�
SHUVHPEDKNDQ�XQWXN�RUDQJ�RUDQJ�\DQJ�PHPEDQWX�VD\D�PHQ\HOHVDLNDQ�VWXGL�LQL�

KLQJJD PHUDLK�JHODU�VDUMDQD��8QWXN�LWX�VD\D�XFDSNDQ�WHULPD�NDVLK�
SDGD��
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7HULPD�NDVLK�NHSDGD�RUDQJ�WXD�VD\D��DWDV�VHJDOD�MHULK�SD\DKQ\D�XQWXN�
PHPEHVDUNDQ�GDQ�PHQJDMDUNDQ�LOPX��PHPEXDW�VD\D�\DQJ�DZDOQ\D�WLGDN�PHQJHUWL�

DSD�DSD�KLQJJD�PHUDLK�JHODU�VDUMDQD��7HULPDNDVLK�DWDV�VHPXD�GRD�\DQJ�WLGDN�
EHUKHQWLQ\D�NDOLDQ�SDQMDWNDQ�XQWXN�VD\D���6HPRJD�\DQJ�WHODK�VD\D�SHUMXDQJNDQ�LQL�
PHPEXDW�D\DK�GDQ�PDPD�EDQJJD� 0XQJNLQ�VD\D�WLGDN�DNDQ�PDPSX�PHPED\DU�

VHPXD�\DQJ�WHODK�NDOLDQ�EHULNDQ��WHWDSL�VHPRJD�JHODU�LQL�PHQMDGLNDQ�VD\D�PHQMDGL�
DQDN�\DQJ�ELVD�PHQJDQJNDW�GHUDMDW�NDOLDQ��
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7HULPDNDVLK�NHSHGD�$OP��.HGXD�NDNHN�GDQ�QHQHQN�VD\D�\DQJ�PHQMDGL�PRWLYDVL�
GDQ�FRQWRK�GDODP�PHQMDODQL�KLGXS�LQL��7HULPDNDVLK�DWDV�NDVLK�VD\DQJQ\D�\DJ�

WHODK�PHUDZDWNX�VHMDN�NHFLO�

7HULPD�NDVLK�NHSDGD�NHGXD�DGLN�VD\D�]DKUR�GDQ�LGD��\DQJ�WHODK�PHPEHULNDQ�
ZDUQD�GDODP�NHKLGXSDQ�VD\D�GDQ�PHMDGL�WHPDQ�VHUWD�VDXGDUD�VHUWD�WHODK�

PHPRWLYDVL�VD\D�DJDU�PHQMDGL�FRQWRK�\DQJ�EDLN�EDJL�PHUHND�

7HULPD�NDVLK�SDGD�RP�GDQ�WDQWH�VD\D�\DQJ�VHODOX�PHQGXNXQJ�VD\D�GDODP�NHDGDDQ�
VXVDK�PDXSXQ�GXND��VHUWD�VXGDK�PHPEHULNDQ�PDODLNDW�NHFLO�OXFX��QDMZD��\DQJ�
PHQHPDQL�GDQ�PHPEHULNDQ�PRWLYDVL�VD\D�NHWLND�VD\D�GDODP�NHDGDDQ�GRZQ�
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7HULPDNDVLK�XQWXN�WHPDQ�WLP�VXNVHV�DNXQWDQVL���0HJD��(YLQ��1LGD��1LVVD��0LOD��
6LQWLD��'HSLN��1XQJ��7DWDN��$JXQJ��3DQGKX��,]]DQ��1DQWD��:DK\X��-DOX��D]ND��

\DQJ�WHODK�PHPEHULNDQ�NHVHQDQJDQ�GDQ�NHEDKDJLDQ�GDODP�GXQLD�SHUNXOLDQ�VHODPD�
��WDKXQ�LQL�
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7HULPDNDVLK�DWDV�VHPXD�EDQWXDQ�NDOLDQ�WDQSD�NDOLDQ��7HULPD�NDVLK�MXJD�PHQMDGL�
WHPDQ�WHPDQ�\DQJ�VHODOX�PHQGXNXQJ�GDQ�PHPEHULNDQ�VDUDQ�\DQJ�WHUEDLN��

'L���WDKXQ�LQL�NDOLDQ�VHPXD�VXGDK�EDQ\DN�EHUNRQWLEXVL�GDODP�NHKLGXSDQ�VD\D��
(YLQ��1LGD��1XQJ��6LQWLD��7DWDN��$]ND��:DK\X��1DQWD��MDOX�PDNDVLK�VHODPD�LQL�
VHODOX�GLEDQWX�PHQJHUMDNDQ�WXJDV�VHUWD�PHQMDGL�WHPDQ�NHORPSRN�PDXSXQ�WHPDQ�
EHODMDU��,]]DQ��SDQGKX�PDNDVLK�VXGDK�PHQMDGL�HGLWRU�SHUVNULSVLDQ�GDQ�WHPDQ�

EHODMDU��1LVVD��PLOD�PDNVLK�DWDV�WXPSDQJDQ�UXPDK�NDOLDQ�VHODPD�PHQXQJJX�MDP�
NXOLD��$JXQJ�PDNDVLK�WHODK�PHQMDGL�WHPDQ�\DQJ�VHODOX�EDLN�\DQJ�VHODOX�

PHUHSRWNDQPX��0HJD�PDNDVLK�WHODK�PHQMDGL�WHPDQ�NHVDQD�NHPDUL��WHPDQ�FXUKDW��
GDQ�SDUWQHU�DSDSXQ��/RYH�<RX�*DHV����
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7HULPD�NDVLK�XQWXN�WHPDQ�VD\D�'ZL�5DKD\X�1LQJW\DV�\DQJ�VHODPD�LQL�WHODK�
PHPEDQWX�VD\D�GDODP�PHQGDSDWNDQ�JHODU�LQL��PHPEDQWX�SHUVNULSVLDQ�VD\D��\DQJ
WHODK�EHUVHGLD�PHQXPSDQJL�VD\D�GL�NRVDQQ\D�VHODPD�VD\D�PHQXQJJX�MDP�NXOLDQ�
PDXSXQ�PHQJHUMDNDQ�WXJDV��\DQJ�VHODPD�LQL�WHODK�PHUHSRWNDQQ\D�GDODP�EHUEDJDL�

KDO�
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7HULPDNDVLK�WHPDQ�\DQJ�VHODOX�PHQHPDQL�VD\D�VHMDN�NHFLO�$]L]DK��LOPL\DK��
7HPDQ�\DQJ�VHODOX�PHQMDGL�WHPSDW�SHODULDQ�GDODP�VXND�PDXSXQ�GXND��\DQJ�VHODOX�
PHQGHQJDUNDQ�DSDSXQ�FHULWD�FHULWD�GDODP�KLGXS�VD\D��SDUWQHU�PDNDQ��MDODQ�MDODQ��

QJHUXPSL��RODKUDJD��3DUWQHU�GLZDNWX�DSDSXQ��/RYH�\RX
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7HULPDNDVLK�'DWXQ�GDQ�7ULDQD�\DQJ�VXGDK�PHQMDGL�WHPDQ�EHUMXDQJ�GDODP�
PHQGDSDWNDQ�$&&�GRVHQ��WHULPDK�NDVLK�DWDV�GXNXQJDQ�NDOLDQ�VHODPD�PHQJKDGDSL�

VLGLQJ�SURSRVDO�PDXSXQ�VLGLQJ�VNULSVL�
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7HULPDNDVL�NHSDGD�VHPXD�WHPDQ�WHPDQ�DQJNDWDQ������GDUL�VHPHVWHU�����\DQJ�
WHODK�PHQMDGL�WHPDQ�VHNHODV�VD\D��0DXSXQ�WHPDQ�VHNHORPSRN�PDWDNXOLD
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6HJDOD� SXML� V\XNXU� SHQXOLV� SDQMDWNDQ� DWDV� NHKDGLUDW� $OODK� 6:7�� NDUHQD�
GHQJDQ�NDUXQLD�GDQ�NDVLK�VD\DQJQ\D�VHUWD \DQJ�WHODK�PHOLPSDKNDQ�5DKPDW�VHUWD�
+LGD\DK�1\D�� VHKLQJJD� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� VNULSVL� GHQJDQ� MXGXO�
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���������´�VHEDJDL�VDODK�VDWX�V\DUDW�XQWXN�PHPSHUROHK�JHODU�VDUMDQD�$NXQWDQVL�GL�
67,(�3HUEDQDV�6XUDED\D��

3HQXOLV� PHQ\DGDUL� VHSHQXKQ\D� GDODP� SHQ\XVXQDQ� VNULSVL� LQL� WLGDN� DNDQ�
WHUVHOHVDLNDQ�WDQSD�GXNXQJDQ�GDQ�EDQWXDQ�GDUL�EHUEDJDL�SLKDN��3DGD�NHVHPSDWDQ�
LQL��SHQXOLV�PHQ\DPSDLNDQ�UDVD�KRUPDW�GDQ�XFDSDQ�WHULPD�NDVLK�NHSDGD��

�� %DSDN�'U��<XGL�6XWDUVR�6(��0�6L VHODNX�.HWXD�67,(�3HUEDQDV�6XUDED\D

�� %DSDN� 'U�� 1DQDQJ� 6KRQKDGML� 6(��$N��0VL��&$��&,%$��&0$� VHODNX� .HWXD�

3URJUDP�6WXGL�6DUMDQD�$NXQWDQVL�67,(�3HUEDQDV�6XUDED\D�

�� %DSDN� 'U�� .DXWVDU� 5L]D� 6DOPDQ�� 6(���06$��� $N��� %.3��� 6$6��� &$� VHODNX�

'RVHQ�3HPELPELQJ��\DQJ�WHODK�PHPELPELQJ�GDQ�PHPEHULNDQ�VDUDQ��PDVXNDQ��

VHUWD DUDKDQ�VHODPD�SURVHV�SHQ\HOHVDLDQ�VNULSVL�

�� 6HUWD� NHSDGD� VHPXD� SLKDN� \DQJ� WHODK�PHPEDQWX� SHQXOLV� GDODP� SHQ\XVXQDQ�

ODSRUDQ�\DQJ�WLGDN�GDSDW�GLVHEXWNDQ�VDWX�SHUVDWX�

3HQXOLV�PHQ\DGDUL�EDKZD�VNULSVL�LQL�PDVLK�MDXK�GDUL�NHVHPSXUQDDQ��2OHK�
NDUHQD� LWX�� SHQXOLV� PHPRKRQ� PDDI� DSDELOD� PDVLK� EDQ\DN� NHNXUDQJDQ� NDUHQD�
NHWHUEDWDVDQ�SHQJHWDKXDQ�GDQ�SHQJDODPDQ��

6HPRJD�VNULSVL�LQL�GDSDW�EHUPDQIDDW�EDJL�VHPXD�SLKDN�\DQJ�PHPEXWXKNDQ��
.ULWLN� GDQ� VDUDQ� VDQJDW� GLKDUDSNDQ� SHQXOLV� XQWXN� NHVHPSXUQDDQ SHQHOLWLDQ�
VHODQMXWQ\D�

3HQXOLV
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/$03,5$1�����'DWD�.XDUWDO�,QIODVL�'DQ�1SI
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0DNKIXGKRWXO�0DXOLGL\DK

67,(�3HUEDQDV�6XUDED\D

(PDLO ��PGL\DK��#JPDLO�FRP�

$%675$&7

7KLV�UHVHDUFK�DLPH�WR�ILQG�RXW�WKH�IDFWRUV�DIIHFWLQJ�WKH�1RQ�3HUIRUPLQJ�)LQDQFLQJ�
�13)��DW� 6KDULD�&RPPHUFLDO�%DQNV� ,QGRQHVLD� �6&%V��DV��)LQDQFLQJ� WR�'HSRVLW�
5DWLR��)'5���&DSLWDO�$GHTXDF\�5DWLR��&$5���2SHUDVLRQDO�([SHQVHV�DQG�5HYHQXH�
([SHQVHV��%232���DQG�,QIODWLRQ��6RXUFH�RI�GDWD�LQ�WKLV�UHVHDUFK�ZHUH�VHFRQGDU\�
GDWD�IURP�RI�DQQXDO�UHSRUW�LQ�RIILFLDO�ZHEVLWH�2WRULWDV�-DVD�.HXDQJDQ��2-.��%DQN�
,QGRQHVLD��DFFRUGLQJ�WR�HDFK�RI�WKH�EDQN�ZHEVLWH�LQ�SHULRG�RI�IRXU�\HDUV�IURP������
XQWLO�������7KH�GDWD�DQDO\VLV�PHWKRG�ZDV�DQDO\VLV�PXOWLSOH�UHJUHVVLRQ�SURFHVVHG�
ZLWK�VRIWZDUH�6366�

7KH� UHVXOW� RI� WKLV� UHVHDUFK� LV� WKDW� &DSLWDO� $GHTXDF\� 5DWLR� �&$5���2SHUDVLRQDO�
([SHQVHV� DQG� 5HYHQXH� ([SHQVHV� �%232�� KDV� VLJQLILFDQW� LQIOXHQFH� WRZDUG�1RQ�
3HUIRUPLQJ�)LQDQFLQJ� �13)���DQG�)LQDQFLQJ� WR�'HSRVLW�5DWLR� �)'5��� ,QIODVWLRQ�
KDYHQ¶W�D�VLJQLILFDQW�HIIHFW�WRZDUG�1RQ�3HUIRUPLQJ�)LQDQFLQJ��13)��

.H\ZRUGV� )LQDQFLQJ� WR� 'HSRVLW� 5DWLR� �)'5��� &DSLWDO� $GHTXDF\� 5DWLR� �&$5���
2SHUDVLRQDO�([SHQVHV�DQG�5HYHQXH�([SHQVHV��%232���DQG�,QIODWLRQ�
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3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN� PHQJXML� IDNWRU�IDNWRU� \DQJ� PHPSHQJDUXKL� 1RQ�
3HUIRUPLQJ�)LQDQFLQJ��13)��SDGD�3HUEDQNDQ�XPXQ�6\DULDK�GL�,QGRQHVLD�VHSHUWL��
)LQDQFLQJ� WR� 'HSRVLW� 5DWLR� �)'5��� &DSLWDO� $GHTXDF\� UDWLR� �&$5��� %HEDQ�
RSHUDVLRQDO�GDQ�SHQDSDWDQ�RSHUDVLRQDO��%232��GDQ�,QIODVL��'DWD�\DQJ�GLJXQDNDQ�
GDODP�SHQHOLWLDQ�LQL�GLSHUROHK�GDUL�/DSRUDQ�3XEOLNDVL�SDGD�ZHEVLWH�UHVPL�2WRULWDV�
-DVD�.HXDQJDQ��%DQN�,QGRQHVLD�GDQ�ZHE�PDVLQJ�PDVLQJ�EDQN�GDODP�NXUXQ�ZDNWX�
HPSDWK� WDKXQ� \DLWX� WDKXQ� ������������ 'DWD� GL� DQDOLVLV� PHQJJXQDNDQ� DQDOLVLV�
GHVNULSWLI��XML�DVXPVL�NODVLN��DQDOLVLV�UHJUHVL�OLQLHU�EHUJDQGD�GDQ�XML�KLSRWHVLV�\DQJ�
GLRODK�PHODOXL�DSOLNDVL�6366�

+DVLO�SHQJXMLDQ�KLSRWHVLV�PHQXQMXNNDQ�EDKZD ��� &DSLWDO�DGHTXDF\�UDWLR��&$5��
EHUSHQJDUXK� WHUKDGDS�1RQ�3HUIRUPLQJ�)LQDQFLQJ� �13)��� ����%HEDQ�RSHUDVLRQDO�
SHQGDSDWDQ�2SHUDVLRQDO��%232��EHUSHQJDUXK�WHUKDGDS�1RQ�3HUIRUPLQJ�)LQDQFLQJ�
�13)��� ��� )LQDQFLQJ� WR�'HSRVLW� 5DWLR� �)'5�� WLGDN� EHUSHQJDUXK� WHUKDGDS�1RQ�
3HUIRUPLQJ� )LQDQFLQJ� �13)�� ���� ,QIODVL� EHUSHQJDUXK� WHUKDGDS�1RQ�3HUIRUPLQJ�
)LQDQFLQJ��13)��

.H\ZRUGV� *RRG� &RUSRUDWH� *RYHUQDQFH�� 0DQDJHULDO� 2ZQHUVKLS�� ,QVWLWXWLRQDO�
2ZQHUVKLS�� $XGLW� &RPPLWWHH�� %RDUG� 2I &RPPLVVLRQHUV�� %RDUG� 2I�
'LUHFWRUV��)LQDQFLDO�3HUIRUPDQFH


